

Paper 7 Financial Accounting


Chapter 12 HKAS 36 Impairment of Assets

1.
Objectives

1.1
State the principle of value to business related to impairment.

1.2
Define the meaning of impairment, carrying amount, recoverable amount, net realizable value and value in use.

1.3
Identify the events to trigger off an impairment review.

1.4
Compute the impairment loss.

1.5
Explain the allocation of goodwill for a cash-generating unit.

1.6
Explain the allocation of impairment loss for a cash-generating unit.

1.7
Explain the accounting treatments for impairment loss for a cash-generating unit and an individual asset.

1.8
Explain the disclosure requirements by HKAS 36.
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2.
Introduction

2.1
An enterprise’s assets are normally recorded at the value of transactions at the time when they are acquired. Subsequently, the enterprise may revalue their assets as times goes by to reflect their fair value of the assets as stated in the balance sheet.

2.2
Moreover, it has long been established that if there are permanent decline in the value of assets, i.e. the assets are impaired, the asset’s carrying amount should be written down to their recoverable amount.

2.3
The purpose of HKAS 36 is to ensure that enterprises do not carry assets at a value in excess of their recoverable amount (可收回價值). Also, it gives some specific guidance on when and how to apply the test of impairment.

2.4
The logical thinking and deduction on the concept of impairment is based on the principle of “value to the business” (or deprival value). Value to the business is the lower of an asset’s carrying amount and its recoverable amount.
(A)
Definition

	2.5
	DEFINITION

	
	(a)
Impairment (資產減值) is a reduction in the recoverable amount of a fixed asset or goodwill below its carrying amount.
(b)
Carrying amount (帳面價值) is defined in HKAS 36 as the amount at which an asset is recognized in the balance sheet after deducting any accumulated depreciation and accumulated impairment losses thereon (指在資產負債表中確認的、扣除累計折舊（攤銷）和累計減值損失後的資產價值).
(c)
Recoverable amount is the higher of fair value less costs to sell (or net selling price or net realizable value) and its value in use.
(d)
Net realizable value (銷售淨價) or fair value less costs to sell is the amount at which an asset could be disposed of, less any direct selling costs (指在熟悉情況的交易各方之間自願進行的正常交易中，通過銷售資產而取得的、扣除處置費用後的金額).
(e)
Value in use (使用價值) is the present value of the future cash flows obtainable as a result of an asset’s continued use, including those resulting from its ultimate disposal (指預期從資產的持續使用和使用期限結束時的處置中形成的估計未來現金流量的現值).
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2.6
From the above flowchart, it can be known that the carrying amount of the asset should be valued at 60.

	2.7
	EXAMPLE 1

	
	The carrying amount, net selling price and value in use for four different kinds of assets are shown below:

Asset

A

B

C

D

$000

$000

$000

$000

Carrying amount

100

100

300

300

Net selling price

50

200

150

200

Value in use

200

50

200

150

The value of assets stated in the balance sheet is determined by comparing the asset’s carrying amount and its recoverable amount as follows:

Asset

A

B

C

D

$000

$000

$000

$000

Carrying amount

100

100

300

300

Recoverable amount (higher of net selling price and value in use

200

200

200

200

Value to be stated in balance sheet (lower of carrying amount and recoverable amount)

100

100

200

200

The economic decision in each case is:
Asset A –
Continue to use.

Asset B –
Sell.

Asset C –
Continue to use. (The carrying amount of the asset is written down to its value in use, $200,000.)

Asset D –
Sell. (The carrying amount if the asset is written down to its net selling price of $200,000.)


(B)
Scope of HKAS 36
2.8
HKAS 36 applies to all tangible, intangible and financial assets except:

(i)
inventories;

(ii)
assets arising from construction contracts;

(iii)
deferred tax assets;

(iv)
assets arising under HKAS 19 “Employee Benefits”;

(v)
financial assets within scope of HKAS 32 “Financial Instruments, Disclosure and Presentation”;

(vi)
non-current assets held for sale, which are dealt with under HKFRS 5 “Non-current Assets Held for Sale and Discontinued Operations”.

This is because those HKASs already have rules for recognizing and measuring impairment.
3.
Identifying Impairment

3.1
An entity should carry out a review of its assets at each balance sheet date, to assess whether there are any indications of impairment to any assets. The concept of materiality applies, and only material impairment needs to be identified.

3.2
If there are indications of possible impairment, the entity is required to make a formal estimate of the recoverable amount of the assets concerned.

	3.3
	KEY POINT

	
	(a)
External sources information –

(i)
Significant decline in the asset’s market value more than would be expected as a result of the passage of time or normal use;

(ii)
Significant changes in the technological, market, economic or legal environments;

(iii)
Increases in the market interest rate or other market rate of return on investments, and those increases that are likely to affect the discount rate used in calculating the asset’s value;

(iv)
Decline in the enterprise’s market capitalization.
(b)
Internal sources of information –

(i)
Specific evidence of obsolescence or of physical damage to an asset;

(ii)
Significant internal changes to the organization or its operations so that the expected useful life or utility of the asset has seemingly been reduced; and

(iii)
Evidence from internal reporting indicating that economic performance of the asset is, or will be, worse than expected.


3.4
It is important to stress that the above is a list of events that indicate that an impairment review may be appropriate. The indicators will only trigger off an impairment review if they are relevant to the measurement of the goodwill or fixed assets.

3.5
For example, there are circumstances in which short term interest rates are increased without affecting the required rate of return on long term basis. This may be because the market expectations are that the increase in interest rates will be relatively short-lived. In these circumstances there is no effect on the recoverable amount of such assets and no impairment review would be required.

3.6
Even if there are no indications of impairment, the following assets must always be tested for impairment annually.

(i)
An intangible asset with an indefinite useful life;

(ii)
Goodwill acquired in a business combination.

4.
Computing Impairment Loss

(A)
Cash generating units

4.1
When attempting to assess the value in use of an asset, it may be difficult because the asset does not generate income or cash flows on its own but only as part of a larger unit.

4.2
The procedure to be adopted in this case is to estimate the recoverable amount of the whole unit, and to recognize an impairment if the value of the whole unit is found to be below its carrying value.

	4.3
	DEFINITION

	
	A cash-generating unit (現金產出單位) is a group of assets, liabilities and associated goodwill that generates income that is largely independent of the reporting entity’s other income streams. The assets and liabilities include those directly involved in generating the income and an appropriate portion of those used to generate more than one income stream (指從持續使用中產生現金流入的最小的可辨認資產組合，而該資產組合的持續使用很大程度上獨立於其他資產或資產組合).


	4.4
	EXAMPLE 2

	
	A mining company owns a private railway that it uses to transport output from one of its mines. The railway now has no market value other than as scrap, and it is impossible to identify any separate cash inflows with the use of the railway itself. Consequently, if the mining company suspects an impairment in the value of the railway, it should treat the mine as a whole as a cash generating  unit, and measure the recoverable amount of the mine as a whole.


	4.5
	EXAMPLE 3

	
	A bus company has an arrangement with a town’s authorities to run a bus service on four routes in the town. Separately identifiable assets are allocated to each of the bus routes, and cash inflows and outflows can be attributed to each individual route. Three routes are running at a profit and one is running at a loss. The bus company suspects that there is an impairment of assets on the loss-making route. However, the company will be unable to close the loss-making route, because it is under an obligation to operate all four routes, as part of its contract with the local authority. Consequently, the company should treat all four routes together as a cash generating unit, and calculate the recoverable amount for the unit as a whole.


(B)
Steps for computing impairment loss

4.6
The following steps should be applied in computing impairment loss:

(a)
Identify individual asset or group of assets;

(b)
Estimate future cash inflows;

(c)
Choose appropriate discount rate (折現率);

(d)
Determine recoverable amount;

(e)
Write down carrying amount to recoverable amount.

(a)
Identify individual asset or group of assets

4.7
If cash flows cannot be identified with individual asset, it becomes necessary to group the assets to perform impairment test. The requirement is that grouping of assets, i.e. a cash-generating unit, should be identified for the smallest or the lowest level groups of assets together to generate an identifiable and independent stream of cash flows.

4.8
In practice, the groupings may be at departmental level, product line, output of material, labour, overhead, etc. To a certain extent, aggregation process may be necessary when the enterprise’s operation is integrated.

4.9
HKAS 36 requires cash-generating units, once have been identified, be applied consistently from period to period for the same asset or types of assets.

(b)
Estimate future cash flows

4.10
The estimates of future cash inflows should include:

(i)
projections of cash inflows from continuing use of the asset or group of assets;

(ii)
projections of cash outflows that are necessarily incurred to generate the cash inflows from continuing use of the asset or group of assets; and

(iii)
net cash flows, if any, to be received (or paid) for the disposal of the asset or group of assets at the end of its useful life.

4.11
When estimating future cash flows, past experience is very important for projection. In addition, management should consider various factors such as the industry pattern, economic conditions, etc. Non-cash costs such as depreciation, cash flow from financing activities and income tax receipts or payment should not be included in the estimates.

(c)
Choose appropriate discount rate

4.12
The discount rate adopted for computing the discounted present value of cash inflows should be a pre-tax rate that reflects current market assessments of the time value of money and the risks specific to the asset or group of assets.

4.13
As a starting point, HKAS 36 provides that the enterprise may take into account the following rates:

(i)
the enterprise’s weighted average cost of capital;

(ii)
the enterprise’s incremental borrowing rate; and

(iii)
other market borrowing rates.

(d)
Determine recoverable amount

4.14
Determine net selling price – The determination of net selling price appears relatively simple. Net selling price is the amount obtainable from the sale of an asset in an arm’s length transaction between knowledgeable, willing parties, less the cost of disposal.

4.15
Determine value in use – Value in use is the present value of estimated future cash flows expected to arise from the continuing use of an asset and from its disposal at the end of its useful life. With the projected cash inflows and the appropriate discount rate, value in use can be computed.

4.16
Determine recoverable – Recoverable amount is the higher of an asset’s net selling price and its value in use.

(e)
Write down carrying amount to recoverable amount

4.17
An impairment loss is the amount by which the carrying amount of an assets exceeds its recoverable amount. Thus, to recognize the loss, the carrying amount of individual asset or group of assets is written down to its recoverable amount.

	4.18
	EXAMPLE 4

	
	The operations of AB Ltd was divided into two cash-generating units, CGUI and CGUII:

CGUI

CGUII

Cash flows

$000

$000

Year

1

400

1,000

2

300

1,100

3

450

1,300

4

500

1,200

5

600

1,500

The discount rates applied to CGUI and CGUII are 10% and 12% respectively.

The net selling prices of assets in CGUI and CGUII are $2.5 million and $3.5 million respectively.

The carrying amounts of assets in CGUI and CGUII are $2 million and $5 million respectively.

The impairment loss, if any, for CGUI and CGUII is computed as follows:

Year

CGUI – Cash flows

Discount rate

Value in use

CGUII – Cash flows

Discount rate

Value in use

$000

10%

$000

$000

12%

$000

1

400

0.909

363.6

1,000

0.893

893.0

2

300

0.826

247.8

1,100

0.797

876.7

3

450

0.751

338.0

1,300

0.712

925.6

4

500

0.683

341.5

1,200

0.636

763.2

5

600

0.620

372.0

1,500

0.567

850.5

1,662.9

4,309

Net selling price

2,500

3,500

Recoverable amount

1,662.9

4,309

Carrying amount

2,000

5,000

CGUI –
There is no impairment since the recoverable amount is higher than the carrying amount.

CGUII –
Impairment loss was $691,000 ($5,000,000 – $4,309,000), the amount by which the carrying amount exceeds its recoverable amount.


5.
Reversal of Previously Recognised Impairment Loss

5.1
Recoveries of previously impaired assets require recognition where there is any indication that an impairment loss recognized for an asset in prior years may no longer exist or may have decreased. The enterprise should consider, as a minimum, the following indications:

(i)
External sources of information –

(a)
Signification increase in the asset’s market value;

(b)
Signification changes with a favourable effect on the enterprise have taken place, or will take place in the near future, in the technological, market, economic or legal environment in which the enterprise operates;

(c)
Decrease in the market interest rates or other market rates of return on investments;

(ii)
Internal sources of information –

(a)
Significant changes with a favourable effect on the enterprise, e.g. that has been incurred to improve or enhance an asset in excess of its originally assessed standard of performance; and

(b)
Evidence from internal reporting indicating that the economic performance of the asset is, or will be, better than expected.

5.2
Consistent with the treatment for recognition of impairment loss, a reversal of an impairment loss for a cash-generating unit should be allocated to increase the carrying amount of the assets of the unit in the following order:

(i)
to assets other than goodwill on a pro-rata basis based on the carrying amount of each asset in the unit; and

(ii)
to goodwill allocated to the cash-generating unit, provided that the impairment loss was originally caused by a specific external event of an exceptional nature that is not expected to recur, and subsequent external events have occurred that reverse the effect of the original event. Thus, the reversal of goodwill may seem only to arise under very rare situation.

6.
Accounting for Impairment Loss – Individual Asset

	6.1
	KEY POINT

	
	If the asset is carried at a revalued amount, the impairment loss should be recognized directly against any revaluation surplus for the asset to the extent that the impairment loss does not exceed the amount held in the revaluation surplus for that same asset, the balance will then be charged to the profit and loss account as an expense.


6.2
After the recognition of an impairment loss, the depreciation (amortisation) charge for the asset should be adjusted in future periods to allocate the asset’s revised carrying amount, less its residual value, on a systematic basis over its remaining useful life.

	6.3
	EXAMPLE 5

	
	Cost of machinery purchased at 1.1.2004

$1,000,000

Depreciation method

Straight line over 20 years

Fair value at 31.12.2004

$1,200,000

Recoverable amount at 31.12.2005

$800,000

The journal entries to reflect the depreciation and changes in value of the machinery would be:

Dr ($)

Cr ($)

For 2004

Depreciation ($1,000,000/20)

50,000

Accumulation depreciation

50,000

Being depreciation provided on cost

Dr ($)

Cr ($)

31.12.2004

Machinery

200,000

Accumulation depreciation

50,000

Revaluation reserve

250,000

[$1,200,000 – ($1,000,000 – $50,000)

Being revaluation surplus on the asset recorded.

Dr ($)

Cr ($)

For 2005

Depreciation ($1,200,000/19)

63,158

Accumulation depreciation

63,158

Being depreciation provided on revalued amount of the asset.

Dr ($)

Cr ($)

31.12.2005

P/L – Impairment loss

86,842

{$800,000 – [($1,200,000 – $63,158) – $250,000]}

Revaluation reserve

250,000

Accumulated depreciation

63,158

Machinery

400,000

Being impairment loss on the asset recognized.

Dr ($)

Cr ($)

For 2006

Depreciation ($800,000/18)

44,444

Accumulated depreciation

44,444

Being depreciation provided based on net carrying amount of the asset after deducting impairment loss.




7.
Accounting for Reversal of Impairment Loss – Individual Asset

7.1
An impairment loss recognized for an asset in prior years should be reversed if, only if, there has been a change in estimates used to determine the asset’s recoverable amount since the last impairment loss was recognized. If this is the case, the carrying amount of the asset should be increased to its recoverable amount. That increase is a reversal of an impairment loss. The detailed accounting treatment for the reversal is described as follows:

(i)
The increased carrying amount of an asset due to a reversal of an impairment loss should not exceed the carrying amount that would have been determined had no impairment loss been recognized for the asset in prior years. Any increase in the carrying amount of an asset above the carrying amount that would have been determined had no impairment loss been recognized for the asset in prior year is a revaluation.

(ii)
A reversal of an impairment loss for an asset should be recognized as income immediately in the profit and loss account, unless the asset is carried at revalued amount.

(iii)
A reversal of an impairment loss on a revalued asset is credited directly to equity under the heading “revaluation surplus”. However, to the extent that an impairment loss on the same revalued asset was previously recognized as an expense in the profit and loss account, a reversal of that impairment loss is recognized as income in the profit and loss account.

(iv)
After a reversal of an impairment loss is recognized, the depreciation charge for the asset should be adjusted in future periods to allocate the asset’s revised carrying amount, less its residual value, on a systematic basis over its remaining useful life.

	7.2
	EXAMPLE 6

	
	Following the example 5 in the previous section, assume that the recoverable amount of the machinery at 31 December 2007 was $1,150,000.

In allocating a reversal of an impairment loss, HKAS 36 requires that the carrying amount of an asset should not be increased above the lower of its recoverable amount and the carrying amount that would have been determined (net of amortisation or depreciation) had no impairment loss been recognized for the asset in prior years.

Before making any adjustment for the reversal, the carrying amount of the machinery at 31 December 2007 that would have been determined, had no impairment loss been recognized for the asset in prior years, must firstly be computed.

Carrying amount of the machinery had no impairment loss been recognized

$

Cost at 1.1.2004

1,000,000

Depreciation for 2004

(50,000)

Carrying amount at 31.12.2004

950,000

Revaluation surplus

250,000

Carrying amount at 31.12.2004

1,200,000

Depreciation for 2005 to 2007 ($1,200,000 x 3 years)

(189,474)

Carrying amount at 31.12.2007

1,010,526

Carrying amount of the machinery with impairment loss previously been recognized

$

Cost at 1.1.2004

1,000,000

Depreciation for 2004

(50,000)

Carrying amount at 31.12.2004

950,000

Revaluation surplus

250,000

Carrying amount at 31.12.2004

1,200,000

Deprecation for 2005 ($1,200,000/19)

(63,158)

Carrying amount at 31.12.2005

1,136,842

Impairment ($400,000 – $63,158)

(336,842)

Carrying amount

800,000

Depreciation for 2006 and 2007 ($800,000/18 x 2 years)

(88,888)

Carrying amount at 31.12.2007

711,112

In this case, the maximum amount for the reversal that can be reflected in the financial statements for 2003 would be limited to $1,010,526, as it is lower that the asset’s recoverable amount of $1,150,000. Therefore, the reversal of impairment loss for $299,414 ($1,010,526 – $711,112) can be accounted for.

The journal entries to record the reversal of impairment loss would be:

Dr ($)

Cr ($)

31.12.2007

Machinery

299,414

P/L – Reversal of impairment loss

86,842

Revaluation reserve ($299,414 – $86,842)

212,572

Being reversal of impairment loss on the asset recognised




8.
Disclosure Requirement

8.1
The disclosures required by HKAS 36 are very extensive. The more important disclosures include the following:

(i)
The amount of impairment losses recognized in the profit and loss account, and the line item(s) under which they are included, and its disclosure under segment reporting.

(ii)
The amount of reversals of impairment losses recognized in the profit and loss account, and the line item(s) under which they are included, and its disclosure under segment reporting.

(iii)
The amount of impairment losses recognized directly in equity.

(iv)
The amount of reversals of impairment losses recognized directly in equity.

(v)
Notes giving details of the events and circumstances leading to impairment losses or reversals.
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